5.3 Guided Notes — Graphing Radical Functions Name \ X

Square Root Parent Function: f(x) = Vx
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For the following square root functions, describe the transformations from the parent function and graph. Then describe

the features of the graph.

1) gx)=2vx+3+Y4 2)m(x)=—§\/x—17+1
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Domain: X € (- 3,003 Domain: xe€ (u, 00)
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State the interval of x where g(x) is increasing: X € E31 o) State the interval of x where m(x) is decreasing:

x€Q1®)

State the interval of x where g(x) > 0:  w e (-3, 00) State the interval of x where m(x) < 0: xé& (5100)



Parent Function of a Cubic Function: f(x) = V/x
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Graph: f(x) = V8x
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You Try!
1) m(x)=-2vx+3-2 ) n(x)=Vx-2+1
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Example:

Looking out to the sea, the visibility in miles from a certain spot on a cliff can be calculated with the function
d(x) = V1.5x, where x is the height in feet above sea level.
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a) What is the visibility 5 feet above sea level?

b) What is the visibility 40 feet above sea level? 4 (u o) - SLS(" 0y = 1- ¢ war



